
Wired World - Comprehension Questions

Name: ___________________________________ Date: _______________

1. According to the passage, which of the following countries comes first on the list of 

digital leaders?

A. South Korea

B. Luxembourg

C. United States

D. Sweden

2. The passage describes Internet use around the world. How many people around the 

world use the Internet?

A. about one-half of all humans

B. about 200,000 humans

C. about one-third of all humans

D. about 3 million people

3. Based on the passage, why do the wealthier nations most likely have the most 

people using the Internet? 

A. Wealthier nations offer the Internet for free to people.

B. Wealthier people can afford to buy the technology to access the Internet.

C. It is cheaper in wealthier nations to access the Internet.

D. People in poorer nations do not like to use the Internet. 

4. Read the following sentence:

"Kids can ... communicate with each other using the Internet. ... National boundaries 

are no barrier."

As used in the passage, what does "communicate" mean?

A. see

B. travel

C. talk

D. ignore

ReadWorks.org · © 2017 ReadWorks®, Inc. All rights reserved.



Wired World - Comprehension Questions

5. What is the central idea of this passage?

A. the Internet can be accessed from anywhere in the world

B. how to fix the digital divide

C. the Internet is used by many people around the world

D. how the idea of the Internet was created

6. What is the global digital divide?

7. Based on the passage, what does Toshie Takahashi most likely mean when she says 

that the Internet has shrunk the world?

8. Choose the word that best completes the sentence.

Students in Asia use their cell phones to research and write papers ______ there isn't a 

lot of public access to the Internet in those countries.

A. after

B. but

C. because

D. so

9. Vocabulary Word: access (ac-cess): ability to enter, look at, or use something.

Use the word "access" in a sentence.
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1. According to the passage, which of the following countries comes first on the list of digital 

leaders?

A. South Korea

B. Luxembourg

C. United States

D. Sweden

2. The passage describes Internet use around the world. How many people around the 

world use the Internet?

A. about one-half of all humans

B. about 200,000 humans

C. about one-third of all humans

D. about 3 million people

3. Based on the passage, why do the wealthier nations most likely have the most people 

using the Internet? 

A. Wealthier nations offer the Internet for free to people.

B. Wealthier people can afford to buy the technology to access the Internet.

C. It is cheaper in wealthier nations to access the Internet.

D. People in poorer nations do not like to use the Internet. 

4. Read the following sentence:

"Kids can ... communicate with each other using the Internet. ... National boundaries are 

no barrier."

As used in the passage, what does "communicate" mean?

A. see

B. travel

C. talk

D. ignore
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5. What is the central idea of this passage?

A. the Internet can be accessed from anywhere in the world

B. how to fix the digital divide

C. the Internet is used by many people around the world

D. how the idea of the Internet was created

6. What is the global digital divide?

The global digital divide is the difference in Internet use between the 

richest nations and the poorest nations.

7. Based on the passage, what does Toshie Takahashi most likely mean when she says that 

the Internet has shrunk the world?

Takahashi most likely means that the Internet has shrunk the world 

because there are no barriers to making friends, playing games, and 

learning about different cultures around the world without having to get 

on a plane. The Internet shrinks the world by bringing people closer 

together and allowing them to share different cultural interests like 

Japanese animation.

8. Choose the word that best completes the sentence.

Students in Asia use their cell phones to research and write papers ______ there isn't a lot 

of public access to the Internet in those countries.

A. after

B. but

C. because

D. so

9. Vocabulary Word: access (ac-cess): ability to enter, look at, or use something.

Use the word "access" in a sentence.

Answers may vary but should reflect the meaning of the word
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